Name___________________________

Precalculus Exam 2 - Spring 2005 

Directions: You may use a calculator throughout the exam, but you must show all your work.  The process of solving the equation will be worth more than the answer.

(1) Let f(x) = 
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.  Find and simplify the following:

(a) f(-2)

(b) f(x+4)

(c) 
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(2) Find the equation of the line passing through the points (-3, 4) and (12,3).

(3) Find the equation of a line parallel to the line 3x + 11y = 8 and through the point (3, -1).
(4) Find the x- and y- intercepts and the slope of 2x + 4y = 7.
(5) Define f(x) by the following:
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(a) Evaluate f(3)
(b) Evaluate f(-3)

(c) Graph f(x).

(6)  Find the distance between the points (-1, 2) and (8, 6).
(7) The midpoint of the line segment joining (-1, 5) and (x, y) is (10, 4).  Find x and y.
(8)  Find the radius and center for the circle with equation x2 - 3x + y2 + 4y = 12.

(9)   Let f(x) = 2x2 – x and g(x) = 3x + 3.  Find each of the following and simplify:

(a) (f + g)(x)

(b) (fg)(2)

(c) 
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(d)  f(g(x))

(10)  What are the domains of the following functions?

(a) f(x) = x3 – 
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(b) g(x) = 
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(c) h(x) = 
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(11) What is the range of the following functions?
(a) f(x) = 8 + 6x2
(b) g(x) = x3 - 8
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